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Note : This paper is of Thirty Five (35) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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SECTION-A/( @US-% )
(Long Answer Type Questions)/( S ST Il Wg)

Note : Section 'A' contains Five (05) long answer type
questions of Nine and Half (9%2) marks each. Learners
are required to answer any Two (02) questions only.

(2x9%2=19)

S-66 /MT-08 [P.T.O.



A ;. @uE ‘w H g (05) 3" SO0 o yvd K T
T, T U & fau W Al (9w sfw fuifE 7
forenfelai &1 9 W ®aA I (02) WA P SW
= Tl

1. If u+v= 2sin 2x and f (z)=u+iv is an

e’ +e2 —2cos 2x

analytic function then find f (z) in terms of z.

2sin 2x
gfe u+v= qaLn f()=u+iv
e?’ + e ~2cos 2x

fogeifter ®er € @ f (z) Wz % T W FE i

2. Find the bilinear transformation which transforms the points
z=2,1,01into w =1, 0, i respectively.

fotda ®uiaeor @ Hifee St z=2,1,0 & w=1,0, i
fogeti § w9afa 1

3. State and Prove Cauchy's Integral formula.

FRM F FEHEE I TOEC AR fag i

4. State and prove maximum modulus theorem.
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5. State and Prove Uniqueness of analytic continuation theorem.
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SECTION-B/( ©@Us-@)
(Short Answer Type Questions)/( g I AT Y9T)

Note : Section 'B' contains Eight (08) short answer type
questions of Four (04) marks each. Learners are required
to answer any Four (04) questions only.  (4x4=16)
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1. Find the amplitude of Shs 41'
3-4i
3+4i o
3_ 4 0TIk IATd <hISTTI
2. Define :

(a) Open set.
(b) Connected set.

TR ifse
(%) foga aq===|
(@) T FH=A|
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3. With the help of theorems on limits, find the following :

(@) lim (22 -5z+10)

71+

. (2z+3)(z-1
b tim 22D
z—2i d —2z+4

el W yHE i geEdl 9 i J9 S

(%) lim (z* =52+10)

z—1+i

. (2z+3)(z-D
(@) llm.z—
=2 7°=2744

4. Find the radius of cnvergence of the given power series :
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5. Define
(a) Conformal mapping.
(b) Ceritical point.
(c) Magnification
qReIfo A SifT
(%) TR0 Fidfeo|
(@) whifden|
(M) sTEEA|

dz .
6. Prove that LE =27 where Cis |z—a| =t

forg o o [ = 2ni et © |- =
p 2l

7. Explain with example :
(a) Essential singularities.

(b) Pole.

St wfed uftafy wifse .
(%) sfrard fa=sa

(@) sHash|
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0 24cosB’

8. Find the value of

J"27t do
0 2+cosB
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